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Math 1211: Recitation #7 Winter 2014
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1. Determine whether the following i meroper mtegrals converge or dlverge If an integral
converges, find its value. : \/
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c Hint; Begin with it
(c) / m [Hint: Begin with a subst1tut10n] ,
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2. Find the 3rd degree ’I‘a,ylor polynomlal of f(z) = tanz centred at z = Z

Pl ) Sine JW(/«O
/ = f (Q =gy . - ;wé Sc,c,(“/ab )
/ =7 '(XN = éi:xxz:;w‘ . 1 ’?(W/L{\ =]
= F(0) = Ysecrdunx: Loi 4 2eeese x | X(v/‘h - 2 S/

\/ T , (ﬂ/ct\ “ j

£em=

= HSL(,)(J(M o 4 Lsec

N
| L?¢Z(x q\)*l“"’) (X “>

T

3. Find the n-th degree Meclaurin polynom‘ial of f(z) = T
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